R EE TS ESL )
HBOR Micro-Finishing Cutter Fine Boring System
151E317)4ES Body
#5131, 7J42 Cutting Bar

~ HBOR“

©

j %@ﬂimm (]
o0t @ EELTLE N 20002
:L_LW Body
SEYE)E Rear max Front max MRRIZELRE
Vice Graduation u Adjust the Graduation
pma— " MA MA MB
HBOR Bl IESL J]-FEHESL )4 88
Body for HBOR Micro-Finishing Cutter Fine Boring
I BRI RO MA MB P B
Order No. Model h | d |Front| Rear| X | pgoy | Bot | NW.
51000025 |HBOR25 25 | 14 1 1 42 | M5x12 0.15
51000032 |HBOR32 32 | 18 | 2 2 52 | M6x12 0.35
51000040 |HBOR40 40 | 22 | 2 2 | 53 | M6x12 0.50
51000050 |HBORS50 50 | 28 | 2 2 63 »16 0.92 ——
51000063 |HBOR63 63 | 36 | 4 4 | 63 $16 | M8x14 | 1.52 ©
~ H——f=—MA
s M6*20CAP
= A
M8*20CAP
L
© @l X<
> g ?
L
DM
‘ ~— 60/88 —
o - 7 [55_. wsocep
- G HI5-100L (HBOR) G g AR
> |
HBOR B HE4EIE3L /) - 451831 012 .
Cutting Bar for HBOR50 and HBOR63 Micro-Finishing Cutter Fine Boring
8B pras) —
TR w8 D B % 7B . % % mE | 3 E
Order No. Model oDMin-oDMax DM System Insert Bolt Wrench N.W.
50160621 |BR1606-21 6-9 21 WBGT0601..L 54 0.04
50160828 |BR1608-28 8-11 28 59 SB-1STR-M2 T6 0.04
50161035 |BR1610-35 10-13 35 TBGTO601..L 65 0.05
50161242 |BR1612-42 12-15 42 HBOR50 TPGH0902.L 70 SBOTRM2S 0.06
50161450 |BR1614-50 14-17 50 HBORG3 (TPGX0902. 1) 77 (©S250T) 0.07
50161660 |BR1616-60 16-20 60 85 T8 0.09
50162065 |BR1620-65 20-24 65 TPGH1103..L 88 SB-3TR-M3 0.11
50162468 |BR1624-68 24-28 68 (TPGX1108..L) 91 (Cs300T) 0.12
50162505 |BMS5 60 + SRTP2938 or SRTP3652 or SRTP4468 80+ M5x12 O4 0.25
50162510 |BM5-100L 88 + SRTP2938 or SRTP3652 or SRTP4468 116+ 0.40
50501608 |BMS8 +SRTP5790 or SRTP70110 or SRTP110150 M8x20 O6 0.03
50501606 |BM6 +SRTP4468 or SRTP6690 or SRTP88112 M6x20 5 0.03

PS.(CSHRIIIZHH - BT SHRBNSH)
PS.Order bolt CS series, please advise in advance.

58



